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QUESTION 1

Given the Identify Customer Contracts Job set performs many different processes, which action Is NOT performed by
this job set? 

A. allocates the SSP to various satisfaction events 

B. creates the accounting for the stages in the process 

C. allocates the SSP to various performance obligations 

D. recognizes revenue if any satisfaction events exist 

E. creates customer contracts and performance obligations 

Correct Answer: B 

 

QUESTION 2

65-A business entity (your client) sells a computer, monitor, keyboard, and mouse as a single package to consumers.
The entity has identified that this bundle is a distinct performance obligation. How would you configure the Performance
Obligation Identification Rule to ensure correct grouping of these items? 

A. By defining a grouping rule on the customer class 

B. By defining an exclusion rule to exclude customer classes that are "Retail" 

C. By defining a grouping on an extensible line attribute and ensuring that the source lines for the specified items
contain the same value for that attribute 

D. By defining an item group and assigning that to the rule 

E. By defining a grouping on an extensible line attribute and ensuring that the source lines for the specified items
contain different values for that attribute 

Correct Answer: E 

 

QUESTION 3

Your organization Is selling a warranty plan to customers that covers appliances for one year. Revenue must be
recognized gradually by month until the warranty expires. 

Which Revenue Scheduling Rule Type needs to be defined for the Performance Satisfaction Plan? 

A. Fixed Schedule 

B. Variable Schedule 

C. Daily Revenue Rate, All Periods 

D. Daily Revenue Rate, Partial Periods 
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E. Partial Schedule 

F. Daily Revenue Rate 

Correct Answer: A 

Reference: https://fusionhelp.oracle.com/fscmUI/topic/TopicId_P_888B257D55BE0BBDE040D30A688 13B17 

 

QUESTION 4

In order to have Revenue Management calculate Observed Standalone Selling Prices, four steps must be completed. 

Which two are NOT included in the four step process? 

A. Close the previous period. 

B. Review the calculated OSSP. 

C. Categorize standalone sales by performance obligation. 

D. Approve the OSSP by establishing it. 

E. Run the Calculate Observed Standalone Selling Prices program. 

F. Run Create Accounting. 

Correct Answer: CE 

 

QUESTION 5

Which two are incorrect statements about the Oracle Fusion Receivables Transaction Sources section in the Manage
Revenue Management System Options page? 

A. Revenue Management can only integrate to Fusion Receivables. 

B. You can add up to 5 Transaction Sources as part of your integration with Fusion Receivables. 

C. You can choose which Transaction Sources in Fusion Receivables integrate to Revenue Management. 

D. You can define date filters in order to consider only relevant data needed to comply with the new revenue recognition
standards. 

Correct Answer: AD 
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